GENERAL MATHEMATICS F - UNIT 1 - 2004

ANSWER SHEET
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Circle the correct answer.
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Section B

All working must be clearly shown in the space provided.

Coordinate geometry

Question 1

For the two points A(3, 2) and B(7, -6), find:

a) the gradient of the line joining A and B.

b) the midpoint of the line joining A and B.

c) the distance between A and B. Give your answer correct to 2 decimal places.

d) the equation the line joining A and B.

e) the equation of the line perpendicular to the line AB and passing through the midpoint of the line AB.

[1+1+1+2+2 = 7 marks]
Linear Relations and Equations

Question 2

Solve the following for x, showing all relevant steps.
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[2 marks]

Question 3

Solve the following pair of simultaneous equations showing all working:
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[2 marks]

Statistics

Question 4

The following data represents the marks (%) obtained by a certain Mathematics class on a SAC 


43
55
63
70
90
96
57


54
73
82
41
93
47
80 


75
92
84
47
89
94
79

a) Construct an ordered stem-and-leaf plot.

[2 marks]

b) Find:
i) 
[image: image3.wmf]1

Q


___________________

ii) Median
___________________

iii) 
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Q


___________________

[3 marks]
Question 5
a) On the scatter diagram below, draw in the median lines for x and y.
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[2marks]
b) Calculate q, showing all necessary calculations.

[2 marks]

Sequences and series
Question 6

In an arithmetic sequence the 3rd term is 12 and the 7th term is – 4. 

a) Show that the first term is 20 and the common difference is – 4.

[3 marks]
b) Find the 50th term.

[1 marks]
c) Find the sum of the first 30 terms.

[2 marks]

End of Exam.
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